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When a 3.0-gram sample of water at 20.°C absorbs

12 calories of heat, the final temperature of the sample is
A) 60.°C C) 24°C

B) 16°C D)y 9.0°C

The heat of fusion of a compound is 30.0 calories per gram.
What'is the total number of calories of heat that must be
absorbed by a 15.0-gram sample to change the compound
fromsolid to liquid at its melting point?

A) 15.0cal C) 45.0cal

B) 450.cal D) 150.cal

What is the total number of grams ofice at 0°C that can be
changed to water at the same temperature by absorbing
240 calories of heat?

A) 033g C) 80.¢g

B) 30¢g D) 160g

What is the total number of calories of heat absorbed by
65.0 grams of water when the temperature of the water is
raised from25.0° Cto 40.0°C?

A) 1630 cal
B) 25.0cal

C) 975cal
D) 15.0cal

Which sample is most likely to take the shape and total
volume of its container?

A) COy(s)
B) COy(0)

) COyaq)
D) COs(g)

Questions 6 and 7 refer to the following:

The graph below represents a substance X, in the formof a gas,
uniformly cooled froman initial temperature of 140°C.
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In which segment of the graph is substance X in the liquid
phase only?
A) CD C) AB
B) DE D) BC
The time required to cool gas X from B to a liquid at its
freezing point is
A) 15.0 minutes C) 12.5 minutes
B) 10.0 minutes D) 2.5 minutes
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As asolid is heated, its temperature increases from 10°C to
25°C, remains at 25°C for 5 minutes, and then increases to
beyond 45°C. Based on this information, what conclusion
can be drawn about the substance?

A) Its melting point is 25°C.

B) Its boiling point is 25°C.

C) TIts melting point is 45°C.

D) Its boiling point is 45°C.

The vapor pressure of a sample of boiling water is 380 torr.
The temperature of the water is

A) 100°C

B) below50°C

C) above 50°C, but below 100°C

D) 50°C

As the pressure on a sample of hydrogen gas is changed
from 740 torr to 760 torr at constant temperature, its volume
A) remains the same

B) increases
C) decreases

A sample of gas has a volume of 12 liters at 0°C and
380 torr. What will be its volume when the pressure is
changed to 760 torr at constant temperature?

A) 18L C) 24L

B) 12L D) 60L

Under which conditions will the volume of a given sample of
a gas decrease?

A) increased pressure and decreased temperature

B) increased pressure and increased temperature

C) decreased pressure and decreased temperature

D) decreased pressure and increased temperature

The temperature of 100. milliliters of a gas at 200. K is
increased to 400. K, pressure remaining constant. The new
volume of the gas will be

A) 50.0mL C) 200.mL

B) 400.mL D) 100.mL

What is the pressure of a mixture of CO,, SO,, and H,O
gases, if each gas has a partial pressure of 250 torr?

A) 1000 torr C) 500 torr
B) 750 torr D) 250torr

Gas samples 4, B, and C are contained in a systemat STP.
The partial pressure of sample 4 is 380 torr and the partial
pressure of sample B is 190 torr. What is the partial pressure
of sample C?

A) 570 torr C) 190 torr

B) 380 torr D) 760 torr




